
Dividing Decimals 
 
Complete the problems below and extend your answer to the nearest 100th.  Answers are on the next 
page 
 

1 4.6 ÷ 1.2 = 
 

2 1.8 ÷ 0.3 = 3 1.6 ÷ 0.4 =

4 1.4 ÷ 0.2 = 
 

5 0.8 ÷ 4.0 = 6 5.4 ÷ 0.6 =

7 21.6 ÷ 3.1 = 
 

8 2.8 ÷ 1.2 = 9 4.12 ÷ 2.4 =

10 25.124 ÷ 5.63 = 
 

11 34.58 ÷ 3.1 = 12 64.2 ÷ 1.24 =

13 123.4 ÷ 4.9 = 
 

14 74.125 ÷ 8.74 = 15 136 ÷ 2.145 =

 
ANSWERS: 

1. 3.83 
2. 6 
3. 4 
4. 7 
5. .2 

6. 9 
7. 6.97 
8. 2.33 
9. 1.72 
10. 4.46  

11. 11.15 
12. 51.77  
13. 25.18  
14. 8.48 
15. 63.40  

 


